
3rd	Conjugation	(ĕ-stem)	
PRINCIPAL	PARTS:	

ACTIVE		tegō,	tegĕre,	tēxī,	tēctum	
PASSIVE		tegor,	tegī,	tēctus	sum	

PERFECT	STEM		TĒX-	1	
SUPINE	STEM		TĒCT-	

	 PLUPERFECT	ACTIVE	 PLUPERFECT	PASSIVE	
INDICATIVE	 SUBJUNCTIVE	 INDICATIVE	 SUBJUNCTIVE	

	
Sing.	

1.	 tēxeram	 tēxissem	 tēctus	eram2	 tēctus	essem2	
2.	 tēxerās	 tēxissēs	 tēctus	erās	 tēctus	essēs	
3.	 tēxerat	 tēxisset	 tēctus	erat	 tēctus	esset	

	
Plur.	

1.	 tēxerāmus	 tēxissēmus	 tēctī	erāmus	 tēctī	essēmus	
2.	 tēxerātis	 tēxissētis	 tēctī	erātis	 tēctī	essētis	
3.	 tēxerant	 tēxissent	 tēctī	erant	 tēctī	essent	

	
1. The	perfect	stem	in	this	conjugation	is	always	formed	from	the	root;	tēx-	is	for	

tēg-s-	(see	§	15.	9).	
	

2. Fui,	fuisti,	etc.,	are	sometimes	used	instead	of	sum,	es,	etc.;	so	also	fueram		
instead	of	eram	and	fuero	instead	of	ero.	Similarly,	in	the	Perfect	and		
Pluperfect	Subjunctive	fuerim,	fueris,	etc.	are	sometimes	used	instead	of	sim,		
sis,	etc.,	and	fuissem	instead	of	essem.	

	


